Bridge at the Lunatic Fringe --  Number   23 – 

Making the critical play – early or late?
In this article, I’ll deal with a not uncommon situation, where missing the A and Q of a suit, you lead toward the KJx, needing to make one trick in the suit, and more importantly, NOT lose 2 tricks.
If both the A and Q are favorably situated in the same hand, you can’t go wrong.  If both the A and Q are unfavorably situated, you can’t get it right.  So if these honors are split, you have a guess to make:

When you lead low toward the K J, and 2nd hand plays low do you:

a.  Go up with the King, hoping that 2nd hand played low holding the Ace, or

b. Play the Jack, hoping that 2nd hand has the Queen, and that the Jack will force the Ace?

Consider these two hands,  which came up in the same round at the Lunatic Fringe duplicate game:
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Opening lead, both hands…  (Q.   

Hand 1:  * a support Double, showing exactly 3 hearts.

Hand 2:  **  1NT forcing

On Hand 1, Warren was a bit surprised to see such a poor dummy.  The opponents had sold out despite having 23 high card points between them.  They might have had several points less for their timid bidding; points that would have made for an improved dummy. 

In any event, Warren played the hand to put off the diamond decision as long as possible, playing trumps to lose to the A and K (they divided 3-2), and forcing out the club Ace.  Each time, the defenders played passively, forcing declarer to ruff hearts in hand, or putting declarer back in hand with a club.  

In the course of play, West showed up with both black Aces, and presumably the Q and J of hearts.  That totaled 11 HCP.  NOT having opened 1NT, West should NOT have the (A for that would give him 15 HCP (and E-W were playing a 15-17 point NT range).  With this analysis, at the critical juncture Warren led toward the (KJ, putting in the (J and forcing the Ace.

On Hand 2, the diamond situation was much the same, but on this hand, Warren saw that he could not learn much by postponing the critical diamond decision.  One hand would show up with 3 points in Hearts and the Ace of Trumps, but that would still leave room for that hand to have either the (A or the (Q.  With the (A, that would make for 11 HCP, perhaps enough for a light 3rd hand opening, but inconclusive.

With this in mind, Warren immediately led a diamond toward the KJ at trick two.  This is the sort of thing that players will often do with a singleton diamond, hoping to sneak through a trick early in the hand.  A non-expert may also hitch or hesitate holding the Ace, especially if caught unawares early in the hand.  

As the play developed, West suspected a singleton and immediately rose with the (A, solving Warren’s problem.  It is important to note that if Warren had played to delay the critical decision, the defenders would have gotten a perfect count on the hand, placing declarer with 6 spades, two hearts, and three clubs; therefore two diamonds.  With this count, West would have no trouble playing “2nd hand low” on the diamond lead, and leaving declarer with a pure guess.

In the post-mortem, the Professor summarized the general principle as follows:  “When faced with a critical guess, consider the effect of delaying the decision as long as possible.  If you stand to gain some knowledge that will help make the guess, by all means delay.  But if the opponents will gain knowledge thru the delay, consider making the critical play immediately.”

